
Economics 3250 Dr. Lozada
Spring 2009 Final Exam

Do Not Turn This Page Over Until You Are So Instructed!

This exam has 50 points. There are ten questions on
the exam. Each is worth 5 points except for Questions 8, 9,
and 10. Question 8 is worth 9 points. Questions 9 and 10
are worth 3 points each.

Put your answers to the exam in a blue book or on blank
sheets of paper. You have two hours to take this test.

Answer the questions using as much precision and de-
tail as possible. Correct answers which are unsupported by
explanations will not be awarded points. Therefore, even if
you think something is “obvious,” do not omit it. If you
omit anything, you will not get credit for it. You get credit
for nothing which does not explicitly appear in your answer.
If you have questions about the adequacy of an explanation
of yours during the exam, ask me.



Answer all of the following ten questions.
Each is worth 5 points except for Questions 8, 9, and 10.

1. [5 points] Compare and contrast the economic challenges posed by:
(a) global warming; and (b) the “hole” in the ozone layer. In your
answer, you should also give a brief scientific explanation of these two
phenomena, highlighting their differences.

2. [5 points] In class, I explained why government fertilizer subsidies hurt
the environment in Indonesia but help the environment in Nepal and
Malawi. What is the explanation?

3. [5 points] The change in the entropy of an object, usually denoted
by ∆S, is equal to the heat flow into or out of the object, usually
denoted by Q, divided by the temperature of the object in (degrees)
Kelvin, usually denoted by T :

∆S =
Q

T
.

What is the scientific “explanation” for why an ice cube placed on a
hot sidewalk on a summer day melts?

4. [5 points] Define all the important terms in the following assertion,
then explain the reasoning behind the assertion: “A Contractarian
Theory of Justice, such as the one suggested by John Rawls, would
lead to intergenerational equality.”

5. [5 points] Page 50 of your textbook says: “A number of parts of the
world already have populations that are close to, even in excess of, the
carrying capacity of their environments.” Argue that this is not a bad
thing. (Even if you think it is a bad thing, give the best arguments
that it is not.)

6. [5 points] Explain the Coase Theorem in detail.

7. [5 points]

(a) What is a positive externality? Give an example of one.

(b) If an activity causes a positive externality, does a laissez faire
policy result in too much or too little of the activity? Why?
Answer with a graph.
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8. [9 points] Suppose reducing pollution by one ton costs Firm A $20
and Firm B $30. Suppose current emissions are 5 tons from Firm A
and 5 tons from Firm B, so 10 tons in total.

Suppose society has decided to reduce pollution in total from 10 tons
to 8 tons. Is it better to do so by a “command and control” policy of
making both firms reduce their pollution by 1 ton, or by a “tradeable
permits” policy? Why? Support your answer by using a detailed,
fully-worked-out numerical example.

9. [3 points] Why do many economists object to managing fisheries ac-
cording to “maximum sustainable yield”?

10. [3 points] Suppose the benefit from engaging in an environmentally-
destructive activity is $100. Suppose the cost is $90 as measured
by “willingness to pay” and $105 as measured by “willingness to ac-
cept.” Should society engage in the environmentally-destructive ac-
tivity? Why or why not?
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